Direct Replacements

Conversion Upgrades

Linkage, solenoids and PPVs also available.

BN style | 'BEa! Agplication Reforance

LV1501UD Hadley Yes International & Mack H01501UD

LV1501PUD Hadley Yes Paccar & Volvo HO01501PUD

LV2204 Barksdale No Freightliner 16-14530-000 LV90054074
LV2205 Barksdale Yes Freightliner 16-14318-000

Lv227 Barksdale No Hendrickson Trailer VS227 & 60826-000

LV24430 Wabco No Multiple Truck & Trailer S464-002-4430 LV90054007 T
LVv27000 Haldex/Midland No International & Trailer KN27000

LV3345M Barksdale Yes Mack 20QE3345 Lv27000

LV450CE Hadley No Multiple Truck & Trailer H450CE =

LV500C Hadley Yes International & Trailer H500C Lvs7977

Lv57977 Barksdale Yes Hendrickson 57977-000

LV600P Hadley No Cab & Light Duty Chassis H600P . J
LV6300-10 Ridewell No Multiple Trailer 6300BFAB10/13 LV2205

LV70040 Wabco No International & Peterbilt S464-007-0040

LV90054007 | Haldex/Neway No Multiple Truck & Trailer 90054007

LV90554241 | Haldex/Neway No International 90554241

LVH168KIT Haldex/Neway _— Linkage Kit For LV90054007 48100225

PBC Style Integral Primary Cross

P/N Dump Application Reference

LV2355 Barksdale no International & Peterbilt S464-007-0040

LV2356 Barksdale no International & Trailer KN27000 LV2357
LV2357 Barksdale no Multiple Truck & Trailer 90054007 'r

LVv2358 Barksdale yes Multiple Truck H500RS g

LVv2359 Barksdale yes Volvo S464-008-1150

LV2360 Barksdale yes International 2506169C91

LVv2374 Barksdale yes Kenworth 90554945/50 \ !

LV2375 Barksdale no Multiple Truck & Trailer H450CE \ -

LV2432 Barksdale yes Volvo & Mack 85112638 & 99QK418M ::; O o
LV2433 Barksdale yes Volvo 85112623

BINKLEY

Euclid P/N | PP P/N |Description Cross

E4824 4824P 19 1/4" ADJUSTABLE TORQUE ARM SP0123

E4835 4835P REBOUND BOLT ASSEMBLY PP0050-75 / SP0145

FRUEHAUF

E927 927P TORQUE ARM BUSHING UXA-000011-900

E1023 1023P TORQUE ARM BUSHING KIT UXA-000011-900

E1024 1024P EQUALIZER BUSHING KIT UXA-000004-900

E2830 2830P CAST EQUALIZER UXA-000017 E2781A
HUTCHENS H-900 SINGLE POINT SUSPENSION

E5210 5210P TRUNNION UPPER HALF 891-00

E5211 5211P TRUNNION LOWER HALF 898-00

E5216 5216P TRUNNION BUSHING 890-00

E5227 5227P SPRING END PAD 814-000

HUTCHENS H-7700 / H-9700

E2781A 2781AP 2 BOLT EQUALIZER 750-03

E2891 2891P TORQUE ARM BOLT 719-02

E2892 2892P TORQUE ARM NUT 10562-00

E2907A 2907AP FABRICATED TOP PLATE 7029-00

E2913A 2913AP FRONT HANGER 20728-01

E2915A 2915AP REAR HANGER 20732-01

E3079 3079P TORQUE ARM BUSHING ASSEMBLY _—

E3277 3277P 19 1/4" ADJUSTABLE TORQUE ARM w/BUSHING 713-05/ 16398-04

E3414 3414P BOLT KIT FOR 2 BOLT EQUALIZER 10287-01

E7532 7532P FABRICATED EQUALIZER 9700 16158-01

E934 934P TORQUE ARM BUSHING _— E2781A
E9471 9471P CAST EQUALIZER 9600/9700 16290-01

E9475 9475P BOLT KIT FOR SINGLE BOLT EQUALIZER 16353-01 E3414
REYCO 21B

E1312A 1312AP TORQUE ARM BUSHING ASSEMBLY TK-18997

E1975 1975P SPRING ROLLER ASSEMBLY TK-19011

E2855 2855P RIGID TORQUE ARM 16 1/4” T-7635

E3283A 3283AP ADJUSTABLE TORQUE ARM 15 1/2” - 17 1/2” 15172-01

E3976 3976P | EQUALIZER BUSHING ASSEMBLY TK-18998 E1312A
MACK SS34 & 38 TANDEM SUSPENSION

E2917 2917P UPPER INSULATOR PAD 10QK365A

E2919 2919P UPPER INSULATOR PAD 10QK370

E2920 2920P LOWER INSULATOR PAD 10QK36B

HENDRICKSON E2225
E1341A 1341AP | BEAM END BUSHING 45900-000L E1341A
E2225 2225P TORQUE ARM BUSHING 44694-000L .

E2226 2226P | TORQUE ARM BUSHING 44695-000L - (EEI :@' ﬁ@ ]
E2374 2374P BEAM END ADAPTER 45000-007L .E2374 E2920\




Complete Suspension Systems
Available From
HHENDRICKS 0N I

- M

NEWAY ANCHORLOK
NTLEN A A

T o B L

TRA2728

55-029

TRA2726

All U-Bolts include nuts and washers.

Truck/Tractor
P/IN Application Description
46-1280 Freightliner Front 2 Leaf
50-301 Hendrickson Rear 13 Leaf
55-029 International Rear Single Axle 14 Leaf
59-408 Kenworth Front 4 Leaf
75-125 Peterbilt Rear Air Trac 2 Leaf
83-115 Reyco Rear 11 Leaf (plus 3 pads)
Trailer
P/N Application Description
TRAO021 Hutch Mono Leaf Low Arch (363-00)
TRAO023 Hutch Mono Leaf High Arch (360-00)
TRA2260 Hutch 8 Leaf (752-05)
TRA2270 Reyco 8 Leaf (T3564)
TRA2726 Hutch 3 Leaf High Arch (354-00)
TRA2727 Hutch 3 Leaf Medium Arch (355-00)
TRA2728 Hutch 3 Leaf Low Arch (356-00)
TRA2740 Hutch Heavy Duty TRA2726 (365-00)
Euclid PP .
P/N P/N Description
EUB5161-12 5R-7/8X3X12 |Grade 5 U-Bolt - 7/8” X 3" x 12”
EUB5161-14 5R-7/8X3X14 | Grade 5 U-Bolt - 7/8” X 3" x 14”
EUB5161-16 5R-7/8X3X16 |Grade 5 U-Bolt - 7/8” X 3" x 16”
EUB5165-14 5R-7/8X5X14 | Grade 5 U-Bolt - 7/8” X 5" x 14”
EUB8151-12 8R-3/4X3X12 |Grade 8 U-Bolt - 3/4” X 3" x 12”
EUB8151-14 8R-3/4X3X14 |Grade 8 U-Bolt - 3/4” X 3" x 14”
P/N Description
Tri-Functional Bushing - 6” Wide
S24691 2 Kits Per Axle
Narrow Tri-Functional Bushing - 4” Wide
S26321 |1 kit Per Axle
S20924 | Concentric Collar - Inner
S20925 Eccentric Collar - Outer
S21099 |Bushing Tube Spacer - Thick
S24679  |Pivot Bolt Kit In S24691
S24705  |Pivot Bolt Kit In S26321
S6914 Welded Collar Design - 6” Wide
S3646 Pivot Bolt Kit In S6914 = Optimizes tire life

Full line of Atro Polyurethane Truck & Trailer Components In Stock

TRI-FUNCTIONAL® BUSHING

m \/oids positioned to optimally absorb road forces -
m The ideal combination of ride softness and roll stability

m Specially formulated rubber compound stands up to the
toughest operating conditions

m Only 2 long-life bushings in each suspension — no other has fewer

m Up to 5 year warranty depending on application

QUIK-ALIGN® BUSHING KIT

m Saves time and money should axle realignment become necessary
m TORQ-RITE® shear bolt eliminates guesswork

m Realign using standard tools — no torque wrench or welding required

@

P/N Description
MA36000 Mack Load Pad Lower - Mack 10QK36B, Euclid E2920
TS38000 Torque Rod Bushing Multiple Truck & Trailer Applications

’ @k dy
@Mﬂﬂ \,\\




	page52
	page53

